

AdM Norton
24.3.17

2/2 Excellent! MATH 255
PROF. PARK

Homework 6

$S_1: 1-x^2-y^2, z \geq 0$ $S_2: x^2+y^2=1$

$\vec{F}(x,y,z) = (2x, 2y, z)$

$\vec{n}_1 = (-2x, -2y, 1)$

$$\iint_{S_1} \vec{F} \cdot d\vec{S}_1 = \iint_D \vec{F} \cdot \vec{n}_1 ds = \int_0^{2\pi} \int_0^1 (4x^2 + 4y^2 + (1-x^2-y^2)) r dr d\theta$$

$$\int_0^{2\pi} \int_0^1 (4r^2 \cos^2 \theta + 4r^2 \sin^2 \theta + (1-r^2 \cos^2 \theta + r^2 \sin^2 \theta)) r dr d\theta$$

$$= \int_0^{2\pi} \int_0^1 (4r^2 + 1 - r^2) r dr d\theta = \int_0^{2\pi} \int_0^1 (3r^3 + r) dr d\theta =$$

$$\int_0^{2\pi} \left(\frac{3}{4} + \frac{1}{2} \right) d\theta = \frac{5}{4} (2\pi) = \frac{10\pi}{4} = \frac{5\pi}{2}$$

$$\iint_{S_2} \vec{F} \cdot d\vec{S}_2 = \iint_{S_2} (0, 0, 2) \cdot \vec{n} ds = 0$$

Surface Integral: $\frac{5\pi}{2}$

II) $\vec{F}(x,y,z) = (2x, -2y, z^2)$

$S_1: z=1$ $S_2: z=0$ $S_3: 0 < z < 1$

$\vec{n}_1: (0, 0, 1)$ $\vec{n}_2: (0, 0, -1)$ $\vec{n}_3: (\frac{x}{z}, \frac{y}{z}, 0)$

$F \cdot \vec{n}_1 = z^2 = 1$

$F \cdot \vec{n}_2 = -z^2 = 0$

$F \cdot \vec{n}_3 = 2x^2 - 2y^2$

$$\iint_{D_1} dx dy + \iint_{D_2} x^2 - y^2 dx dy =$$

$$4\pi + \int_0^{2\pi} \int_0^1 r (r^2 \cos 2\theta) dr d\theta =$$

4π

$$(5) \quad T(x, y, z) = \sqrt{2} + 3z^2$$

$$x^2 + z^2 = 2, \quad 0 \leq y \leq 2, \quad R=1$$

$$F = -\nabla T = (-6y, 0, -6z)$$

$$n = (x/\sqrt{2}, 0, z/\sqrt{2})$$

$$F \cdot n = \frac{-6}{\sqrt{2}} (x^2 + z^2) = -6\sqrt{2}$$

$$\iint_S F \cdot ds = -6\sqrt{2} \iint_S ds = -6\sqrt{2} (4\pi\sqrt{2}) = -48\pi$$

↓
directed inward
inside of cylinder

$$(6) \quad T(x, y, z) = x$$

$$x^2 + y^2 + z^2 = 5$$

$$F = -\nabla T = (-1, 0, 0)$$

$$n = (x/y, y/z, z/x)$$

$$\iint_S \vec{F} \cdot d\vec{s} = \iint_S \vec{F} \cdot \vec{n} \, ds = \iint_S -\sin\theta \, ds =$$

$$\int_0^{2\pi} \int_0^\pi -\cos\theta \sin\theta \, d\theta \, d\phi = \int_0^{2\pi} \int_0^\pi \sin^2\theta \, d\theta \, d\phi$$

= 0 → The net heat transferred in & out of the sphere is 0; heat is leaving the sphere or the same rate it enters.

$$(7) \quad S: x^2 + y^2 + 3z^2 = 1, \quad z \leq 0; \quad F = (y^2, -x, z^2 y^2)$$

$$\nabla \times \vec{F} = \begin{vmatrix} i & j & k \\ \partial/\partial x & \partial/\partial y & \partial/\partial z \\ y^2 & -x & z^2 y^2 \end{vmatrix} = (2zy^3, -2zx^2 y, -2)$$

$$\vec{G} = \nabla \times \vec{F} = (2zx^3, -2yx^2, -2)$$

$$\vec{n} = \frac{x\vec{i} + y\vec{j} + 3z\vec{k}}{\sqrt{3}}$$

$$\vec{G} \cdot \vec{n} = \frac{1}{\sqrt{3}} (2zx^4 - 2zyx^2 - 2\sqrt{3}z)$$

$$\iint_S (\nabla \times \vec{F}) \cdot d\vec{S} = \iint_D \vec{G} \cdot \vec{n} \, dS = \frac{1}{\sqrt{3}} \iint_D (2x^4 - 2zyx^2 - 2\sqrt{3}z) \, dD =$$

$$= \frac{1}{\sqrt{3}} \int_0^{2\pi} \int_0^{\pi/2} (\cos\phi \cos^4\theta \sin^4\phi - 2\cos\phi \sin\theta \sin\phi \cos^2\theta \sin\phi - 2\sqrt{3}\cos\phi \sin\phi) \, d\theta \, d\phi$$

$$= \frac{1}{\sqrt{3}} \int_0^{2\pi} \int_0^{\pi/2} \cos\phi \cos^4\theta \sin^4\phi - 2\cos\phi \sin\theta \sin^2\phi \cos^2\theta - 2\sqrt{3}\cos\phi \sin\phi \, d\theta \, d\phi$$

Let $u = \sin\theta$
 $du = \cos\theta \, d\theta$

$$\int_0^{2\pi} \int_0^1 \cos^4\theta u^5 - 2\sin\theta \cos^2\theta u^3 - 2\sqrt{3}\cos\theta u \, du \, d\theta =$$

$$\frac{1}{\sqrt{3}} \int_0^{2\pi} \left[\cos^4\theta \frac{u^6}{6} - 2\sin\theta \cos^2\theta \frac{u^4}{4} - \sqrt{3}u \right]_0^1 \, d\theta =$$

$$\frac{1}{\sqrt{3}} \int_0^{2\pi} \left(\frac{\cos^4\theta}{6} - \frac{\sin\theta \cos^2\theta}{2} - \sqrt{3} \right) \, d\theta = \int_0^{2\pi} \frac{\cos^4\theta}{6\sqrt{3}} - \frac{\sin\theta \cos^2\theta}{2\sqrt{3}} - 1 \, d\theta =$$

[2π]

(170) $\iint_S \vec{F} \cdot d\vec{S} = \iint_S (F_r) \cdot \vec{n} \, dS$

$$\int_0^1 \int_0^{2\pi} F_r r \, d\theta \, dr$$

(201) (a) $\vec{F}(x, y, z) = (x, y, 0)$

$\vec{n} = (x, y, z)$ $\vec{F} \cdot \vec{n} = x^2 + y^2$

$$\iint_D x^2 + y^2 \, dD = \int_0^{2\pi} \int_0^{\pi/2} (\cos^2\theta \sin^2\phi + \sin^2\theta \sin^2\phi) \sin\theta \, d\theta \, d\phi$$

$$= 2\pi \int_0^{\pi/2} 2\sin^3\phi \, d\phi = 4\pi \int_0^{\pi/2} (1 - \cos^2\phi) \sin\phi \, d\phi$$

$u = \cos\phi$
 $du = -\sin\phi \, d\phi$

$$4\pi \int_0^1 (1 - u^2) \, du = 4\pi \left[u - \frac{u^3}{3} \right]_0^1 = \frac{8\pi}{3}$$

(b) $\vec{F} = (y, x, z)$

$\vec{F} \cdot \vec{n} = xy + xz + yz$

$$\iint_D xy + xz + yz \, dD = \int_0^{2\pi} \int_0^{\pi/2} 2\cos\theta \sin\theta \sin^3\phi \, d\theta \, d\phi =$$

Let $u = \sin\theta \cos\theta$

$du = \cos\theta \sin\theta \, d\theta$

$$2 \int_0^{2\pi} \int_0^1 u \, du \, d\theta = 0$$

(c) $\nabla \times \vec{F} = 0$ for both (a) and (b).

(a) $S_C \vec{F} \cdot d\vec{s} = \int_0^{2\pi} (\cos t, \sin t, 0) \cdot (-\sin t, \cos t, 0) dt = 0$

(b) $S_C \vec{F} \cdot d\vec{s} = \int_0^{2\pi} (\sin t, \cos t, 0) \cdot (-\sin t, \cos t, 0) dt = 0$

(7.70) (1) $\mathcal{F}(u, v) = (u \cos v, v \sin v, b v), b \neq 0$

$\vec{T}_u = (\cos v, \sin v, 0)$ $\vec{T}_v = (-u \sin v, u \cos v, b)$

$\vec{T}_{uu} = (0, 0, 0)$ $\vec{T}_{vv} = (-u \cos v, -u \sin v, 0)$

$K(\mathcal{F}) = \frac{2 \sqrt{1 - M^2}}{EG - F^2} = \frac{0 - b^2}{EG - F^2} = \frac{-b^2}{(b^2 + u^2)^2}$

$H = \frac{GQ + EN - 2FM}{2 \sqrt{EG - F^2}} = \frac{0 + (-u \cos v - u \sin v + 1) - \sin v + \cos v}{2 \sqrt{u^2 + b^2}}$

(6) $\frac{x^2}{a^2} + \frac{y^2}{a^2} + \frac{z^2}{c^2} = 1$

$\mathcal{F}(u, v) = (a \cos \theta \sin \phi, a \sin \theta \sin \phi, c \cos \phi)$

$\vec{T}_\theta = (-a \sin \theta \sin \phi, a \cos \theta \sin \phi, 0)$

$\vec{T}_\phi = (a \cos \theta \cos \phi, a \sin \theta \cos \phi, -c \sin \phi)$

$\vec{T}_{\theta\theta} = (-a \cos \theta \sin \phi, -a \sin \theta \sin \phi, 0)$

$\vec{T}_{\theta\phi} = (a \cos \theta \cos \phi, -a \sin \theta \cos \phi, 0)$

$\vec{T}_{\phi\phi} = (-a \sin \theta \cos \phi, a \cos \theta \cos \phi, -c \cos \phi)$

$\mathcal{L} = \frac{a^2 c \sin^3 \phi}{\sqrt{W}} = W = a^2 c^2 \sin^2 \phi + a^2 \sin^2 \phi \cos^2 \phi$

$n = \frac{a^2 c \sin \phi}{\sqrt{W}}$

$K = \frac{2 \sqrt{1 - M^2}}{W} = \frac{a^2 c \sin^3 \phi}{(a^2 c \sin^2 \phi + a^2 \sin^2 \phi \cos^2 \phi)^2}$

$= \left(\frac{c}{a^2 \sin^2 \phi + a^2 \cos^2 \phi} \right)^2$

$$(7.) \frac{1}{2a} \iint_S K dA = \frac{\Theta a c^2}{2\pi} \int_0^\pi \int_0^{2\pi} \frac{\sin \theta d\theta d\phi}{(c^2 \sin^2 \theta + a^2 \cos^2 \theta)^{3/2}}$$

$$= \Theta a c^2 \int_0^\pi \frac{\sin \theta}{(c^2 \sin^2 \theta + a^2 \cos^2 \theta)^{3/2}} d\theta$$

$$u = \cos \theta$$

$$du = -\sin \theta d\theta$$

$$= -\Theta a c^2 \int_1^0 \frac{1}{(c^2(1-u^2) + a^2 u^2)^{3/2}} du = \frac{-a}{\sqrt{a^2 - c^2}} \int_1^0 \frac{du}{1 + \sqrt{a^2 - c^2} u} =$$

$$= \frac{-a}{c} \left(\frac{-2}{\sqrt{a^2 - c^2}} \right) = \boxed{2}$$

$$(9) \mathcal{L}(u, v) = (u - \frac{u^3}{3} + uv^2), \quad v = \frac{v^3}{3} + u^2v, \quad u^2 - v^2$$

$$\vec{T}_u = (1 - u^2 + v^2, 2uv, 2u)$$

$$\vec{T}_v = (2uv, 1 - v^2 + u^2, -2v)$$

$$\vec{T}_{uu} = (-2u, 2v, 2) \quad \vec{T}_{vv} = (2v, -2u, -2) \quad \vec{T}_{uv} = (2v, 2u, 0)$$

$$\vec{T}_{vu} = (2u, -2v, -2) \quad \vec{T}_{rv} = (2u, -2v, -2)$$

$$\vec{T}_u \times \vec{T}_v = (1 + v^2 + u^2)(-2u, 2v, 1 - v^2 - u^2)$$

$$E = (1 - v^2 + u^2)^2 + (2uv)^2 + (2u)^2 \quad F = 0 \quad G = (1 - v^2 + u^2)^2 + (2u)^2 + (2uv)^2$$

$$L = \frac{2(1 + v^2 + u^2)^2}{\sqrt{w}} \quad N = \frac{-2(1 + v^2 + u^2)^2}{\sqrt{w}}$$

$$H = \frac{G_L + E_N}{w}$$

$$H = \frac{L}{w} (G - E)$$

$$= \frac{L}{w} (1 - v^2 + u^2)^2 - \frac{L}{w} (1 + v^2 + u^2)^2 + \frac{L}{w} (2u)^2 - \frac{L}{w} (2v)^2 = 0$$

$$\boxed{H=0}$$

$$(10.1) \quad \mathbb{R}(u, v) = (R + \cos \phi) \cos \theta, (R + \cos \phi) \sin \theta, \sin \phi$$

$$\dot{T}_\theta = (- (R + \cos \phi) \sin \theta, (R + \cos \phi) \cos \theta, 0)$$

$$T_\phi = (- \sin \phi \cos \theta, - \sin \phi \sin \theta, \cos \phi)$$

$$T_\theta \times T_\phi = ((R + \cos \phi) \cos \theta \cos \phi, (R + \cos \phi) \sin \theta \cos \phi, (R + \cos \phi) \sin \phi)$$

$$W = (R + \cos \phi)^2 = \|T_\theta \times T_\phi\|^2$$

$$N = \frac{T_\theta \times T_\phi}{W} = (\cos \theta \cos \phi, \sin \theta \cos \phi, \sin \phi)$$

$$\dot{T}_{\theta\theta} = (- (R + \cos \phi) \cos \theta, - (R + \cos \phi) \sin \theta, 0)$$

$$\dot{T}_{\phi\phi} = (- \sin \phi \cos \theta, - \sin \phi \sin \theta, \cos \phi)$$

$$T_{\theta\theta} = (- \cos \theta \cos \phi, - \cos \phi \sin \theta, - \sin \phi)$$

$$T_{\phi\phi} = (\sin \phi \sin \theta, - \sin \phi \cos \theta, 0)$$

$$L = - (R + \cos \theta) \cos \phi \quad m=0 \quad n=+1$$

$$K = \frac{L n - m^2}{W} = \frac{(R + \cos \phi) \cos \phi}{(R + \cos \phi)^2} = \frac{\cos \phi}{R + \cos \phi}$$

$$\frac{1}{2\pi} \iint_S K dA =$$

$$\frac{1}{2\pi} \int_0^{2\pi} \int_0^{\pi} \frac{\cos \phi}{R + \cos \phi} (R + \cos \phi) d\theta d\phi =$$

$$\int_0^{2\pi} \cos \phi d\phi = 0 \rightarrow \text{Agrees with Gauss-Bonnet Theorem}$$